Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

Time: 3 hrs.

Fourth Semester M.Tech. Degree Examination, June/July 2016
Computer Aided Production & Operation Management

Note: Answer any FIVE full questions.

a. Solve the following LPP using simplex method:
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Max. Marks:100

Maximize z=6x, - 3x, + 2x,

Subject to constraints
2x, +x, +x, £16 ;
X,X,,X; 20
Differentiate between assignment problem and transportation problem.

A company wants to purchase a machine to increase the output o

3x, +2x,

+x, <18;

X, —2X,; 28

%

%
‘%'% = (14 Marks)
%::’_; (06 Marks)

w‘productlon centre. It

has to choose from two feasible alternatives, machine A and Machine B, which have been

identified to be suitable for the purpose. The relevant cash flo

¢ for each machine is given

below. If the rate of interest is 10%, which machine will yo&p (14 Marks)
Item Machine A | Machine By :}4
Purchase price (3) 50,000 60,000.. |
Annual maintenance cost (%) 5000 250047
Annual Revenue (%) 20,000 20,000
Useful life (yr.) 6 w*g -6
Salvage value (%) 0 s
Write a note of measure of forecast error. * (06 Marks)

An item for which the daily demand‘”i%?(g; per day, is produced at the rate of 50 units per day.
The set up cost is T 100 per cycle an&”‘the inventory holding cost is Re. 0.02 per unit per day.

Find (i) the economic lot SIZC, A (11) the cycle time and  (iii) minimum cost per day.
5 (08 Marks)

Distinguish between statlc‘*é{::l;d dynamic inventory models. (06 Marks)
The demand for a pal;tzcufar item is 10,000 units/yr. The ordering cost is ¥ 100/order. The
carrying cost is ¥ 0. /umt/ year. Determine (i) EOQ  (ii) No. of orders per year and

(ii1) Total cost whcn the unit cost is ¥ 2. (06 Marks)
An assembly%*»lme consists of 14 operations. The time required and the precedence

requ1rements {for each operation are given below:
5, Operation | Time (min) | Preceding operation

1 6 -

2 4 1

3 7 1

4 5 1

5 10 2

6 6 3,4
7 3 4

8 2 5

9 4 5,6,7
10 4~ 7
11 2 8,9
12 1 9, 10
13 8 11, 12
14 4 13

(1) Draw the precedence diagram.
(i) The cycle time is 12 min, determine the assignment of operation of work station and
also balance delay. (20 Marks)
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5 a
b.
6 a
b.
7 a
b.
8 a
b.
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What are the objectives of MRP system? (08 Marks)
There are five jobs, each of whi © b nrocessgd through three machines A, B, C in the
order ABC. Procesging time# in hu as

JobiA[B|C
1 [3]4]7
2 [8]5]9]
3 |8]1]5
4 [s]2]6
5 [4]3]8

How should the jobs be loaded in order to minimize the total elapsed time? B, (12 Marks)

A single sampling plan is designated by n = 80, r = 3. Find the consumers and producers risk

given that AQL is 2% and LTPD 10%. {3 (14 Marks)

With the help of a diagram, explain PDCA cycle. % " (06 Marks)
i’w”t

Draw the network diagram for given project also showﬂ‘% ‘tﬁtlcal path and calculate tctal

duration time.

Activity |t | t, [ tm ey
1-2 [1]7]1 i.,;i;‘;}
1-3 |1]7 |4 o Lo
1-4 282 s
2-5 (1] 1]1[|~
3-5 [2]14]5 1
4-6 [2]8]5 )
5-6 [3]15]6 i
(i)  What is the probability that, the project will be completed in 14 days?
(i) What is the probablllt at the project will be completed in 21 days? (16 Marks)
List the tools of TQM. (04 Marks)
s, "p
What are the requli}nénts of a factory of future? Explain. (10 Marks)
Discuss the f lldng
i) Supply q%n management.
if) Syst@ﬁi:; ulation. (10 Marks)
&si? * ok k% K

20f2



